Assembly Instructions - Adapter Bracket for VESA 100 Mounting Patterns

Models:
PLP V100,
PLP V100S

PartS L | St Before you start make sure all parts listed are included with your product.
Description Qty. PLP-V100 PLP-V100S
AA adapter bracket - top plate 1 200-1289 200-4289
BB adapter bracket - bottom plate 1 200-1599 200-4599
CC M4 x 10 mm socket pin serrated washer head screw 4 510-1060 510-2060
DD M6 x 10 mm socket pin screw 4 520-1066 520-2066
EE 4 mm security allen wrench 1 560-9646 560-9646

Note: Actual parts may appear slightly different than illustrated.

IMPORTANT! Read entire instruction sheet before you start installation and assembly.

Use four M4 x 10 mm socket pin serrated screws (CC) to
attach bottom plate (BB) to monitor using security allen wrench
(EE). Use four center holes of plate as shown below.

MONITOR

BB | -7 -
//@ -~
T 0 /////Q
. N\ D2 _ - A
//// S
d /// 0
I

Use four M6 x 10 mm socket pin screws (DD) to attach top plate (AA) to bottom plate (BB) using security allen wrench (EE).

2,

NOTE: Top plate (AA) will have one set of threaded holes on one side and a set of non-threaded holes on the other side. Bottom plate
(BB) will also have one set of threaded holes on one side and a set of non-threaded holes on the other side. All four M6 x 10 mm socket
pin screws should pass through non-threaded holes first and into threaded holes.

MONITOR MONITOR

1of1 ISSUED: 07-21-04 SHEET #: 201-9240-1

Visit the Peerless Web Site at www.peerlessindustries.com For customer service call 1-800-729-0307 or 708-865-8870.

©2004 Peerless Industries, Inc. Allrightsreserved.
Peerlessis aregistered trademark of Peerless Industries, Inc.
Allother brand and product names are trademarks or registered trademarks of their respective owners.



